A £ 0l & AF & S

Al A

FAT HEIED
I FoE 0lS 25
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Rl =) 118,313,158 120,151,171 1,838,013
= 46,362,433
[ 1,776,000
Jl 6,860,572
< 31,455,964
Al 31,858,189
FAHES Ols BES 34,528,192 31,663,637 2,864,555
= 12,237,925
s 1,776,000
Il 178,777
= 4,681,219
Al 15,654,271
Ors=X 17,571,390 16,980,744 1,590,646
= 11,639,443
Il 78,7%
s 2,371,785
Al 3,481,368
ors=X XI&E 34,200 34,200 0
201 2= 1,300 1,300
01 At22t2l] 1,300 1,300
OO0El0le A} 600
“HEE KLY 20,0002 *30H 600
O=2g+¢ 700
-OlsSAlRIag e e
70,0002 * 10 22| x50f% 700
202 04| 600 600
01 =LHO LI 600 600
OO0ts=X g8 0l
150,000& 2 & =22 600
301 EtE N = 20,300 20,300 0
02 ALRI2E XSG (FHAAHS, NLWE) 20,300 0 20,300
OJtERAS0SIHE S&)| g
50,0002 * 150K CH 7,500
O3sdgitgd(08s)ots 223 X
= 1,250,000 22 2,500
OYLRL2 Sadd HISEx
200,000 «5& 1,000
OOtS=AIAIE Ots Oelold &AL XI&A
6,000,000 *14] 6,000
OA==%0ts HAHl X2
3,300,000& *14] 3,300
307 elztol & 12,000 12,000
11 AMEISXAEEES 12,000 12,000
O0ielole AL X1 12,000,000& » 14 12,000




A

D EIEEL
M FHYAS Ols B
el OIS X (S
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
IHEAE XHIXIZ A 310,360 311,720 21,360
= 38,388
Al 271,972
301 LeEN= 310,360 311,720 21,360
= 38,388
Al 271,972
02 A EEHS(FIANE, XLTHE) 310,360 0 310,360
OJtE BN
300,000& 761201 & 273,600
S 27,360
Al 246,240
OINFAOISHITE 223
20,0002 «64MICH* 1204 15,360
= 4,608
Al 10,752
OIIELALOIS AL 2 F4H)
50,0003 *64 Ml CH*22] 6,400
== 1,920
Al 4,480
OJIEAS0ISHI terestEd=
1,500,000 *10Z 12 15,000
= 4,500
Al 10,500
2ots IHEXHA 112,564 112,299
Jl 78,7%4
= 10,455
Al 23,315
Lot N = 112,564 112,299 265
Il 78,7%4
S 10,455
Al 23,315
01 ARIE2EHSFS(RRNEERTHE) 112,564 112,299 265
Ooggots g2 XN&
200,000 «39E 1200 & 93,600
Il 65,520
< 8,424
Al 19,65
OHOtE ggeds 2x3
8,162,000 *14] 8,162
Il 5,713
= 735
Al 1,714
HE 243 2,700,000 x2& 5,400
Il 3,780
& 810




FAT HEIED
M HoE Ol ©5
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 810
o=t LUK
1,402,000& *14] 1,402
Jl 981
= 126
Al 295
OYLOIE =513 X2
2,000,000& x2H 4,000
7l 2,800
=S 360
Al 840
25EF0ts NHEEES 220,000 145,000 75,000
< 66,000
Al 154,000
301 EtE NS 220,000 145,000 75,000
= 66,000
Al 154,000
02 ALRI2EH G (FHAAHS, NSWE) 220,000 0 220,000
OOtsL=AIE EA0ts MHEEES
0,000,0002 *10H 100,000
= 30,000
Al 70,000
O0EE ElA0ls MEEAZ
10,000,000 3% 30,000
& 9,000
Al 21,000
OINESIELESER0IE NRH
10,000,000 x9H 90,000
S 27,000
Al 63,000
22EE0ts MHE=E 433,910 377,100 56,810
= 347,128
S 26,035
Al 60,747
301 EetE NS 433,910 377,100 56,810
= 347,128
= 26,035
Al 60,747
01 Al EE A S (2 REXMR) 433,910 377,100 56,810
OESE=0ts NE+E
433,910,000 *14] 433,910
= 347,128
= 26,035
Al 60,747
ZAHEX s Ots NHEXE 28,659 28,659 0




FAT HEIED
M HoE Ol ©5
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 20,061
=S 2,579
Al 6,019
301 EetE2 NS 28,659 28,659 0
= 20,061
= 2,579
Al 6,019
01 Al EE AT S (2 RDEXA) 28,659 28,659 0
OdAEXls Ots NEXA dEHIE
2,409,000 *14] 2,409
= 1,686
= 2177
Al 506
OdAEXs Ots NEXAA Atefl2tel
26,250,000 * 14! 26,250
= 18,375
= 2,362
Al 5,513
OlSZEXEAHE AXSHHBLEE R 780,000 386,256 393,744
= 546,000
= 70,200
Al 163,800
301 EtE NS 780,000 386,256 393,744
= 546,000
= 70,200
Al 163,800
01 Al EEABZ2(2DEEMR) 780,000 386,256 393,744
OOtSE 2 XA E At
780,000,000 * 14 780,000
= 546,000
= 70,200
Al 163,800
HEAE XA 58,715 4,400 54,315
= 41,101
< 5,284
Al 12,330
301 LEtE NS 88,715 4,400 54,315
= 41,101
& 5,284
Al 12,330
01 AR 2EHSHS(RDNEXRTHE) 88,715 4,400 54,315
O 9IE0ts dolil28zs A=
4,315,000 * 14 4,315
= 3,021




FAT HEIED
M HoE Ol ©5
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 388
Al 906
OJFEIE, YYOIS MRIXI2Hl N
200,000& 2 * 111 2 4,400
= 3,080
S 3%
Al 924
OfDI0ts IHEES MI20tsESH| X2
1,000,000 x2H 90 = 18,000
= 12,600
= 1,620
Al 3,780
OMEINEAE HE0ISESH A&
24,000,000 *14! 24,000
= 16,800
= 2,160
Al 5,040
Oltss=+a8 A&
1,000,000 x2H 2,000
= 1,400
= 180
Al 420
oggidots 258l A&
1,000,0002 x1H+6IHE 6,000
= 4,200
= 540
Al 1,260
Ots=Atl X 2,116,205 2,113,650 2,55
< 1,333,112
Al 783,093
301 2eEN= 2,116,205 2,113,650 2,55
S 1,333,112
Al 783,093
02 MBI 2HHSFHS(HAANS, XLHE) 2,116,205 0 2,116,205
ogls S4A3
7,0002 %1,500H x5 997,500
= 997,500
OZAl0ts N&E 7,000 312 +365& 79,205
= 23,762
Al 55,443
ogss Ots=a Ad
7,000& %1,650F 0! 1,039,500
== 311,850
Al 727,650
Ots+=g=s0Xa 13,104,795 12,240,000 864,795




FAT HEIED
M HoE Ol ©5
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 10,483,836
=S 786,288
Al 1,834,671
301 EetE2 NS 13,104,795 12,240,000 864,795
= 10,483,836
= 786,288
Al 1,834,671
01 Al EE AT S (2 RDEXA) 13,104,795 12,240,000 864,795
Oo0ts+¢ =20 13,104, 795,000& * 14 13,104,795
= 10,483,836
= 786,288
Al 1,834,671
Ots=g At=gll 1,483 4,184 22,701
= 1,037
= 135
Al 31
201 er2&| 1,483 4,184 A2,701
= 1,037
== 135
Al 311
2 352484l 1,483 3,360 A1,877
03322 % MAM(RER S)
1,483,0002 14| 1,483
= 1,037
< 135
Al 311
BIIE EEJNAER 2 48,000 48,000 0
= 14,400
Al 33,600
307 el2to| & 48,000 48,000 0
= 14,400
Al 33,600
1 AMISXAIEEXE 48,000 48,000 0
O&IIs E8ALEC K
48,000,000& *14] 48,000
< 14,400
Al 33,600
OlsE2s88R3 o12d| 267,654 98,088 169,566
= 200,280
< 15,021
Al 52,353
101 e124d| 207,350 70,784 136,566
= 165,880




SA: HEIED
M FHO|E Ol 25
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 12,441
Al 29,029
01 2= 207,350 70,784 136,566
OOl=S2sXLRE 2121H|
207,350,002 * 141 207,350
=2 165,880
= 12,441
Al 29,029
201 Bt A Y| 15,000 5,000 10,000
=2 12,000
= 900
Al 2,100
01 AlR2t2lH 15,000 5,000 10,000
OOIESESXELRR OISESAY (=22
bl) 15,000, 00021 +14! 15,000
= 12,000
= 900
Al 2,100
301 BB T2 28,000 5,000 23,000
= 22,400
= 1,680
Al 3,920
01 A BREAH (2 DS EMHS) 28,000 5,000 23,000
OOIESESNELQA OISESAIY (MHIAR
%) 28,000,000 *14! 28,000
= 22,400
= 1,680
Al 3,920
303 LA2 17,304 17,304
02 S A0 2 17,304 17,304
OOISEEHQA(AIHZRR) HDAC]
El 17,304,000 %14 17,304
NEETEIN 41,885 49,873 A7,988
201 B2 34,885 42,873 A7,988
01 AlR2r2lH| 22,487 30,475 7,988
oygr2g| 9,907
—otssil 222 M
1,000 5,000 5,000
~=AD| LU 180,00021* 122 2,160
~Z AR 7Y 23,0002 %58 A x 122 1,380
D|2HAREY| 150,0002 x| 300
~2OIEE)| Y 55,9002/ * 122 671
~Ha)| U 33,0002 % 122 3%
ozl 4,800




FAT HEIED
B oS Ols 25
= HE== (Sl &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OlS25E UREA S20HAY
8,000&*10H+53|x 123 4,800
o2Yay 7,780
OIS SN AL R E IR E| A
70,0002 6 *153] 6,300
-~+IHHI0I N =& 100,000 x1&*122] 1,200
-Orssil Mg us ZA=
70,0008 x1H+43] 280
02 S3=gHl 12,398 12,398 0
O3s32= € MAsHt= 12,398
-QIEUAIER 50,000& * 122 600
-REgss 150,000& « 12& 1,800
-SUHESH(PRE) 23
40,0002 *7CH* 122 3,360
21 ARY) 23
10,0002« 12& 120
-AFRA CCTV STHE 88,000 * 122 1,056
-Hlate 2tRIAHIA 71,0003 * 122 852
-HIINSAH SEEEE
1,000,0002 %14 1,000
“HOIsSK S8 &g
40,000& * 122 480
MRS K RS REA 130,002 %141 130
“FHIINST SYBR L2l
3,000,000& %14 3,000
202 04| 3,000 3,000
01 2K 3,000 3,000
OO0l=258 EFFA 22044
150,000 x10E <22] 3,000
307 elztol & 4,000 4,000
01 22X+ 2H| 4,000 4,000
Ostiiulahots 2z & &EH|
4,000,000 *14] 4,000
SIHUIGHOLS OtSESAIE AE2SHIE XIE 12,960 0 12,960
=S 3,888
Al 9,072
307 @I2t01 & 12,960 0 12,960
== 3,888
Al 9,072
10 Al2ISTIAIEEE 22X 12,960 0 12,960
OStHLIoHOtS OtSLSAIE LAIESHIE
A& 18,000 x8E*x30L «3& 12,960
= 3,888
Al 9,072
OlS=XAE 29 16,951,402 16,682,893 1,268,509




EAM: -F
M HoE Ol ©5
&2l: Ols=EXAIE 29 (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 598,482
ras 1,776,000
J| 99,983
< 2,309,434
Al 12,167,503
OlsEXAIE 29 K& 8,960,353 8,936,953 23,400
= 971,291
Al 7,989,062
301 LEtEXZ 387,980 387,980 0
& 116,394
Al 271,586
02 A BEELHS(FHSHS, NYHE) 387,980 0 387,980
OO0IsEXNAE SAHA SE€E
196,200,000 * 14! 196,200
= 58,860
Al 137,340
OAIZ0ls Oisrglsr=d12
1,500,000& * 15 *13| 22,500
= 6,750
Al 15,750
OAIE0ts =0 &
100,000& 42 * 13| 4,200
= 1,260
Al 2,940
OAE0IE MEssE 165,080,000 * 14! 165,080
= 49,524
Al 115,556
307 21Z2t0| ™ 8,572,373 8,548,973 23,400
& 854,897
Al 7,717,476
10 AISISAIAIEHESIHIEX 8,572,373 8,548,973 23,400
OOtsEXAIE 29HI(6I04)
8,469,773,000& * 14! 8,469,773
c 846,977
Al 7,622,79%
OAIE0ts KXY T2 28H|(6I0A)
79,200,000 x 14! 79,200
& 7,920
Al 71,280
O0tsSKXAIE SAHA D125
23,400,000 x 14! 23,400
BES0ts 8= 289 650,079 712,019 A61,940
= 181,370
& 139,098
Al 329,611




FAT HEIED
M HoE Ol ©5
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 196,413 712,019 /515,606
= 57,484
Al 138,929
02 ARSI 2 XSG (FHAAHS, NLWE) 196,413 0 196,413
O0Ss AL E8E
21,600,000 *14] 21,600
=S 6,480
Al 15,120
O08E BAX YEHIH)
150,000 16 & 22| 4,800
OEE SAHAL I8 2|
31,127,000& x2H 62,254
= 18,676
Al 43,578
OIS AL 1t 28
56,079,000 * 14! 56,079
[ 16,824
Al 39,255
O8s 2ES0ts =8t &b
100,000& 5 *13] 500
= 150
Al 350
Olss RIFS0ts Usgs=tls
1,500,000& «2& *13] 3,000
== 900
Al 2,100
008 RES0ls MaE=
33,600,000& x 14 33,600
= 10,080
Al 23,520
O058 RE50ts MEFHI
20,0002 =27+ 12042 6.480
< 1,944
Al 4,536
OEE 2230t MEAAZZ 18|
8,100,000& 14 8,100
= 2,430
Al 5,670
307 21201 & 453,666 0 453,666
= 181,370
= 81,614
Al 190,682
10 AlISAAZEE 22X 453,666 0 453,666
OLZsl0ls 188 23XE
113,356,500 #4 2 453,426
= 181,370




FA 8IS
M HoE Ol ©5
el OISSXAE 28 (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 81,614
Al 190,442
OINEE EAN )24
20,0003 181200 & 240
OtE=XIAE JIs2Z 199,966 228,550 N28,584
Il 99,983
= 29,99
Al 69,988
402 I2FX=01 & 199,966 228,550 28,584
Il 99,983
S 29,99
Al 69,988
02 QIZEN 2 AL E X (0IETHR) 199,966 228,550 N\28,584
OOIS=TAIA JISBL(RLOISH)
95,000,000 * 14 95,000
Il 47,500
S 14,250
Al 33,250
OOtSEXAIE JISEL(SEIE M)
55,000,000 x14! 55,000
Il 27,500
= 8,250
Al 19,250
OOISEXIAIE JISEZ(Z0HE)
49,966,000 * 14 49,966
Il 24,983
= 7,49%
Al 17,488
StlolotSa s =ghl, 28], AtgHl 198,845 187,206 11,640
= 72,122
= 26,496
Al 100,227
307 212t01™ 198,845 187,205 11,640
= 72,122
== 26,496
Al 100,227
10 Al SXAIEEHE2EHI2x 198,845 187,206 11,640
Ostiimlshots&EH 2LHI(10H)
180,305,000 *14] 180,305
= 72,122
[ 21,636
Al 86,547
OstiLlciOtsEH SALA SE+Y
6,840,000 14 6,840
= 2,160




SN IS

Hu: FHoHS OIS 25
Z

el OISSXAE 28 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,680
OSIHUIGHOtSEH SAHAH SEFIH
150,000 5& »23] 1,500
OstiiuloiotsaH 29 X
500,000& * 122 6,000
= 1,800
Al 4,200
OstilllolOtsEHEl SALA g+
50,0002 x5 122 3,000
== 900
Al 2,100
OstLIHOtSEE SAA &J|2&54¢
20,0002 5~ 122 1,200
OlsEsdE)12 23X 28,884 28,884
308 AXIHS0IA 28,884 28,884
07 HAHH 2R 52 28,884 28,884
OOtsEZd2012 2E(1HA)
28,884,000 * 11 £ 28,884
IEASXEHE 28X 27,160 23,091 4,069
308 AFAIEHMSOIH 27,160 23,091 4,069
07 X2 EE2 27,160 23,091 4,069
OJIERERIRME 2 (10HA)
27,160,000 * 104 2~ 27,160
Ots= X WAL IHA 830,610 811,729 18,881
= 332,204
< 99,661
Al 398,745
101 @124H| 828,810 809,929 18,881
= 332,204
== 99,661
Al 396,945
03 SRA(FIH )22 U2+ 828,810 809,929 18,881
OOtS=XIWAL IHA X
664,408,000 x14] 664,408
= 332,204
== 99,661
Al 232,543
OO0tS=E X WAL BEF |
17,086,000 *23] 34,172
OOts=ERN WAL =E S
100,0002 «36E * 12& 43,200
OOts=A WAL OFSS X WAL S48 XIS
100,000 «36E 122 43,200
OOtS= X WAL OFSEXI WAL WSH| XIS
100,000&! x36E « 12 43,200




FAT HEIED
M HoE Ol ©5
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORI AIZI=XIAF 21IF2 At
90,0003 17 630
202 04dl 1,800 1,800
01 2L AL 1,800 1,800
OB =TI AR 2O
150,0002 x1&* 122 1,800
AgotsdE 24l X 3,454,000 2,766,000 688,000
= 1,727,000
= 518,000
Al 1,209,000
301 Eet2 NS 3,454,000 2,766,000 688,000
[ 1,727,000
= 518,000
Al 1,209,000
01 Al EE AT S (2 RDEEMRA) 3,454,000 2,766,000 688,000
OXlSotsHIE Al K&
2,462,000,000& *14] 2,462,000
[ 1,231,000
= 369,000
Al 862,000
OXSE0otsHIE JI222Hl X
992,000,000 *14] 992,000
[ 496,000
= 149,000
Al 347,000
SE+=8d NA0tsdH X2 21,924 14,616 7,308
= 10,962
= 3,288
Al 7,674
301 EtE2 N = 21,924 14,616 7,308
= 10,962
= 3,288
Al 7,674
01 Al EEABZ2(2REER) 21,924 14,616 7,308
OS=+==58g NA0tsSdH K&
609,000 *3H -+ 123 21,924
= 10,962
== 3,288
Al 7,674
EREYE NFotSHE X 3,648 7,296 13,648
= 1,824
S 547
Al 1,277
301 EtE NS 3,648 7,296 A3,648




FAT HEIED
M HoE Ol ©5
el OISSXAE 28 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,824
=S 547
Al 1,277
01 Al E2E AL S(FRDEXH) 3,648 7,29 A3,648
OEL=Ed Na0tsHE K&
304,000 x 104 2% 123 3,648
= 1,824
= 547
Al 1,277
SAUE] S2Y At 176,098 185,198 29,100
[ 52,829
Al 123,269
307 glztol & 176,008 185,198 29,100
= 52,829
Al 123,269
1 AMEISXAEEXS 176,098 185,198 29,100
OSAtLiel 32 At
176,008,000 *14] 176,098
S 52,829
Al 123,269
KSOotsHIE! HHIAIZ AL 2,291,835 1,724,712 567,123
[ 453,229
Al 1,838,606
201 Ler23 | 1,260 1,260
01 At2t2ltl 1,260 1,260
O=2g+¢ 1,260
-NE0tSHHE2EARE 29 B4sE
70,0002 x0H *23] 1,260
202 04| 1,000 1,000
01 2K 1,000 1,000
OXE0lsHE EF =& =ML
20,0002 x2S +53|+53 1,000
301 LEIE NS 2,267,615 1,619,452 648,163
= 453,229
Al 1,814,386
02 A EE AT S (FHANS, XLTHE) 2,267,615 0 2,267,615
OXEotsSHE SAHl XI&
1,568,000,000& » 14 1,568,000
= 313,600
Al 1,254,400
OXISotSHE SA =<0 N
2070002 x350 A+ 12 86,940
< 26,082
Al 60,858




FAT HEIED
M HoE Ol ©5
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXIOISHEl BAK SE4E
90,0002 x85H * 12& 91,800
= 27,540
Al 64,260
OXIS0tSHE SAHL X2IH&HI
100,000 5852+ 128 102,000
ONHOISHE BAK 4L
150,000 x85F 23] 25,500
OXNSOtSHE ¢t X3
100,000& #4004 A +62 24,000
OXIdotsHlE 224 X2 (KHA)
165,375,000 * 14! 165,375
& 24,807
Al 140,568
OXISOtSHIE! SAA Q1] Ed+&
200,000 «85H * 12& 204,000
= 61,200
Al 142,800
307 @120l & 21,960 13,000 8,960
10 Al SXAEEE 22X 6,960 0 6,960
OXIS0tSHIE SAL #1254+
20,0002 x20H 122 6,960
11 AMEISXAEEE 15,000 13,000 2,000
OXSotSHE osestiotg
10,000,000& * 14 10,000
OXSOtSHEH WA H&23 WE
5,000,000 *14 5,000
CHENESsSdE 18] X 84,000 53,040 30,960
= 42,000
= 13,000
Al 29,000
307 @201 & 84,000 53,040 30,960
[ 42,000
= 13,000
Al 29,000
1 AMEISXAIEEES 84,000 53,040 30,960
OtUEgNssSdH AH8IX2
84,000,000 *14] 84,000
[ 42,000
= 13,000
Al 29,000
CreNEsde 238 N3 14,000 3,600 10,400
[ 7,000
= 2,000
Al 5,000




FA 8IS

Hu: FHoHS OIS 25

tel: OIS=EXIAE 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 14,000 3,600 10,400
= 7,000
T 2,000
Al 5,000
1 ASI=SXAIE 2 14,000 3,600 10,400
OUEN=s=SHH 2g8 N&
14,000,000 * 14! 14,000
= 7,000
& 2,000
Al 5,000
CrethEs4dy 2haHl X3 10,000 0 10,000
307 2I2+01A 10,000 0 10,000
11 AL SXAMEEER 10,000 0 10,000
OUEHESHE 2HaH| X3
10,000,000 & 14| 10,000
Ot=&ill 8322 EEZI 5,400 0 5,400
Ot=sill MEESF3 &=l 5,400 0 5,400
204 XM AH| 5,400 0 5,400
083 EHH2EYI 5,400 0 5,400
OOISSIt ML B28 SHPY|
50,0003 x99 =123 5,400
HrE BS 2|4 2,806,335 2,532,840 273,495
= 154,658
| 916,296
T 246,706
Al 1,488,675
Had #sK3 2,032,375 1,504,006 528,369
= 154,658
J| 697,131
= 201,097
Al 979,489
il B85 83,040 11,040 72,000
= 36,000
Al 47,040
201 2| 8,340 8,340
01 AtR2telt] 8,340 8,340
Oget=2H| 6,940
-HAEE g =2 5,2002 *600 3,120
-HAEUEE RS EE
50,000 «8H 400
-HAE FolEANE B2 ME
5002 x25+1,500% 1,500
HAURNEE N=HE (EsHE) 1,920
- E20HAHI 8,000& *10Z8 »243| 1,920
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=S 12,214,348
301 EtE NS 12,214,348 13,804,762 1,590,414
= 12,214,348
02 ARSI S2E AT S(FIANS, XLETHE) 12,214,348 0 12,214,348
OFcltd 2235(2,8049)
12,214,348,000& x14] 12,214,348
= 12,214,348
B30I SSHI(HEAIY) 1,265,122 1,052,216 212,906
== 1,113,308
Al 151,814
307 212+01& 1,265,122 1,062,216 212,906




A HEIED
Hu: B85 OIS X
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,113,308
Al 151,814
10 Al SXAEEHE2EHI2x 1,265,122 1,052,216 212,906
OssE0elold 28X
1,265,122,000& » 14 1,265,122
= 1,113,308
Al 161,814
U MM K& 2,411,775 6,655,954 AN4,244,179
= 1,447,065
= 675,297
Al 289,413
301 LEetE N = 2,411,775 6,655,954 N4, 244,179
= 1,447,065
= 675,297
Al 289,413
01 Al EEABZ2(2DEEMR) 2,411,775 6,655,954 N4,244.179
ONg0lE ESuA 2REZ L]
2,411,775,000& *14] 2,411,775
= 1,447,065
S 675,297
Al 289,413
CHAMl - 2XAF 21248] X1 3,587,217 58,404 3,528,813
= 2,146,330
& 996,621
Al 444,266
307 glztol & 3,587,217 58,404 3,528,813
= 2,146,330
< 996,621
Al 444,266
10 Al2ISTIAIEEE2HIEX 3,587,217 58,404 3,528,813
OO{EI0IE THHMImAF Ql4H] XIS (2Y)
60,000,000 * 14 60,000
= 30,000
== 9,000
Al 21,000
OOEI0IE EXWAL 2124H] X1 (332¢)
3,527,217,000& x 14 3,527,217
= 2,116,330
< 987,621
Al 423,266
2 DULHEY 2 6,100 9,400 23,300
= 3,050
< 1,525
Al 1,525




A HEIED
Hu: B85 OIS X
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 6,100 9,400 23,300
= 3,050
== 1,525
Al 1,525
14 JIEt2 = 6,100 9,400 23,300
O=22LHYH 28X
6,100,000 +14] 6,100
= 3,050
== 1,525
Al 1,525
IROIESE 18,389,541 28,211,309 A9,821,768
= 13,792,088
== 3,218,144
Al 1,379,290
301 22N = 18,389,541 28,211,309 N9,821,768
= 13,792,088
= 3,218,14
Al 1,379,299
01 Al EE A S(FRDEXA) 18,389,541 28,211,309 N9,821,768
OYROIBS2(2,973)
18,389,541,000& *14] 18,389,541
= 13,792,088
= 3,218,14
Al 1,379,299
AMZEHIESAMEIA HSXIA 211,472 194,840 16,632
= 105,736
= 52,868
Al 52,868
301 EtE2 NS 15,472 18,400 A2,928
= 7,736
= 3,868
Al 3,868
01 Al EE AT Z(2DEXR) 15,472 18,400 A2,928
OAZHESAMHIA BE=3(609)
15,472,000 x 14 15,472
= 7,736
= 3,868
Al 3,868
307 el2to| & 196,000 176,440 19,560
= 98,000
= 49,000
Al 49,000
10 Al SXAAIEEHE 22X 196,000 176,440 19,560




A HEIED
Hu: B85 OIS X
el 25 K& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OARHESABIA TRAR (2128 & 2
&Hl) 196,000,000 *14] 196,000
= 98,000
[ 49,000
Al 49,000
EIANE &5 156,000 222,000 266,000
= 78,000
[ 39,000
Al 39,000
olold == 120,000 120,000 0
= 60,000
s 30,000
Al 30,000
401 AIEHIZ SR 0HYI 110,000 110,000 0
= 55,000
= 27,500
Al 27,500
01 A28l 110,000 110,000 0
O=22 20T HBAY(KRI0IF 212
ag) 110,000,000 * 104 2~ 110,000
= 55,000
= 27,500
Al 27,500
405 AtatE = 10,000 10,000 0
= 5,000
= 2,500
Al 2,500
01 ML ESFSHI 10,000 10,000 0
O=2Y ORI0IE BAKOITH 72)
10,000,000 * 10 2 10,000
= 5,000
= 2,500
Al 2,500
olglolE JIse2d 36,000 102,000 66,000
= 18,000
= 9,000
Al 9,000
402 2IZtA=01d 36,000 102,000 66,000
= 18,000
= 9,000
Al 9,000
02 QI X2 AL EE(0IETHE) 36,000 102,000 66,000
Oolelold ZdIbI(19H2)
2,000,000 * 104 2= 2,000




A HEIED
HE: 9g . IS (2
=@t E=AE &5 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,000
=S 500
Al 500
OZOHOIOI&I01E ZHIHI(1IH4)
4,000,000 * 104 4,000
= 2,000
s 1,000
Al 1,000
OORI01F B2 (10H4)
30,000,000 *10H 2~ 30,000
= 15,000
== 7,500
Al 7,500
ots=Xsa 428,854 401,984 26,870
= 325,043
== 24,378
Al 79,433
Arefl2tel JEMA e 428,854 401,984 26,870
= 325,043
= 24,378
Al 79,433
101 21AH| 227,655 203,255 24,400
= 164,084
= 12,306
Al 51,265
03 SRA(RIH )22 U2+ 227,655 203,255 24,400
OSEAEIE RIAHAZZN B
193,105,000 & * 14 193,105
= 154,484
= 11,586
Al 27,035
OEEARE RI[A22 A SEFIIHI
860,000 x5 *23] 8,600
OESARE 2IAA2Z2 X A==
90,0003 68 +7& 3,150
OEEARE RIALZ 2 SAHI
80,0002 x5 » 12 4,800
OLEARE RIH22N 288
100,000& +52+12& 6,000
OZEAHRE RIHA22 A HRFD 04|
20,0002 x5E*10€«12& 12,000
= 9,600
s 720
Al 1,680
201 Ler23 | 41,296 38,826 2,470




K
X-I }_(I-I :
Ct2|:

O;‘}dj|-

JHE—-'

=

| 2|
=

PEEN%

SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

HMEE
Ofl &k2h

Mo

33,037
2,478
5,781

-CSEAEEAY FE AR22/HI(128)
2,100,000& x 128

150,000 «10&

- #+IHBHOI A 150,000 6 & *42]

OsE2= & HA
-CEHARE 22 MA3SLU2

230,000& x 14 A+ 122

-CEHAERE

200,000& %52

1,300,000& 14

1,6402 <502 | B x 128 x42]

03 BAIS
CRAEE 22 =X 28 S T2 o
Ab 2| 2,000, 00021 *14!

Mo

= M W

hoH

Mo

=

Mo

=

= H W

Mo

30,300
25,200

25,200
20,160
1,512
3,528
5,100
5,100

1,500
1,200

210
3,600
2,880

216

504
8,99%
3,760

2,760
2,208
166
386

1,000
800

140

1,300
1,040
78
182
3,936
3,149
236
551
2,000

2,000

28,500

8,326

2,000

1,800

670




SEAk 04*‘*7P i,
3 ek
S *EEX'% (el @e)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,600
=S 120
Al 280
202 04| 4,340 4,340 0
= 3,472
= 260
Al 608
NETET 4,340 4,340 0
OCRAEIE 28 DS Y #AF B4 O]
310,000 7 H =23 4,340
= 3,472
= 260
Al 608
301 22N = 151,563 151,563 0
= 121,250
= 9,004
Al 21,219
01 Al EE A S(FRNEXA) 149,563 149,563 0
OCEAEIE ol 2&E T2 X2
132,763,000 * 14! 132,763
= 106,210
= 7,966
Al 18,587
OSEAEE Ol 24|
1,400,000& ~12& 16,800
= 13,440
= 1,008
Al 2,352
11 AALRHIXIRS 2,000 2,000 0
OSZAEE 80 & #A S &K Al
2,000,000& *14] 2,000
= 1,600
=S 120
Al 280
405 KHakE SH 4,000 4,000 0
= 3,200
=S 240
Al 560
01 TR =S FISHI 4,000 4,000 0
O4#0l2t QO 9I8h 4|2 Y T2
=iz 74 4,000,000 * 14 4,000
= 3,200
= 240
Al 560




2A:

Ol&ot=0t

33 g =X &
=Rl Hd=A S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
od =X 58 14,105, 164 12,499,566 1,605,598
= 2,177,770
Il 5,549,045
== 1,967,961
Al 4,410,388
g=Xx sd 6,903,815 6,622,931 280,884
= 2,177,770
) 1,375,646
= 970,194
Al 2,380,205
Hd=X X 104,121 62,471 41,650
201 Ler23| 50,720 4,720 46,000
01 At2teltl 50,720 4,720 46,000
OOIHOHARIZIONE HIAS I oHYEH g
920,000 504 2 46,000
O=g=g 4,720
-YHESI =2 ARG AT
e 70,0002 *10H #42| *x50f% 1,400
s3] @38+
70,0003 132 +23] 1,820
-HEHSEI 2A =
250,000 +62 1,500
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
Oy as gdR+8 221044
150,000 x2& %103 3,000
301 EtE N = 11,351 1,701 A350
11 #AIAMHIXIZ S 10,451 10,451 0
ONd=5aX?d 38 224
10,0002« 152 #22 300
O0EHANaH Wdus AL a4
8,0003*100& *23] 1,600
OWdEHH & Leta|@ s At 551
-Jl= 130,000 *23] 260
=t 80,000& 22 160
—uwSH| 65,5002 23] 131
Odg 2dESF2 JIEA I &
a 10,0003 *300& 3,000
Odgr HdUial 4 0oHl 24
50,0002 x50 2,500
ONgdec|eEs S Hg2sdA Z4X
Ald| 50,0002 x50 2,500
4 JIEt2d= 900 1,250 A350
OLHES FBN B MA(2I2t01)
60,0002 *15& 900




SN OIEIIED
33 g =X &
el od=X A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
303 Za= 250 250
01 Za= 250 250
OLHBS STT 228 MY
50,0002 +6% 250
307 @120l & 38,800 42,800 24,000
11 AMISXAIEEX 38,800 42,800 4,000
OLEBST JFsAL
12,600,000 * 14! 12,600
O#=8t Ity SSI(SEAIIELEH)
1,000,000 14| 1,000
O#=st It 2HSI(HAUZINLHEH)
1,000,0002 %14 1,000
Og=st Oty HSI(HE8F M = aE
) 1,000,000 *14] 1,000
OWEXNCA Sedst /as
7,200,002 14! 7,200
OSE slgs=s sAl
6,000,000 *14] 6,000
O 22 X A=)
10,000,000 * 14! 10,000
SEADIRAH 29 562,461 320,261 242,200
Jl 240,640
s 72,192
Al 249,629
201 et 3| 31,181 26,181 5,000
01 At22t2l] 31,181 26,181 5,000
SEADISHE HE SX=
26,180,240 x 14| 26,181
OSEADISFME 01EE 4X
5,000,000& *14] 5,000
307 @120l & 481,280 294,080 187,200
Il 240,640
= 72,192
Al 168,448
10 Al SXAAEEHE 22X 481,280 294,080 187,200
OSEADIIFHH 28
481,280,000 * 14 481,280
Jl 240,640
= 72,192
Al 168,448
401 Al HIY S CHYI 50,000 50,000
01 A28l 50,000 50,000
OSEADISHE agd HE2x(28E S)
50,000,000& »14! 50,000
SEAIJISFLEH SAHL S8+ 27,000 15,120 11,880
< 8,100




SN OIEIIED
M od =X 38
el od=X A (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 18,900
301 22N = 27,000 15,120 11,880
=S 8,100
Al 18,900
02 AR EZAGIZ(FHAAE, RLTHR) 27,000 0 27,000
OSTAIISHE BAX SEHS
27,000,000 * 14| 27,000
< 8,100
Al 18,900
OIS XIZAHY 2,372,446 2,595,739 N223,293
= 1,657,762
== 214,402
Al 500,282
307 212t01™ 2,372,446 2,595,739 N223,293
= 1,657,762
== 214,402
Al 500,282
10 Al SXAIEEHE2EHI2X 2,368,246 2,590,789 N222,543
SLEEPENE
2,368,246,0003 * 14! 2,368,246
= 1,657,762
S 213,142
Al 497,342
11 ARRIZXAIE 2= 4,200 4,950 AT50
OO0l0IS 20| ABBFH KB
4,200,000 *14] 4,200
= 1,260
Al 2,940
JIE=FsYEy X 180,620 159,860 20,760
= 82,810
= 24,843
Al 72,967
307 212t01™ 180,620 159,860 20,760
= 82,810
< 24,843
Al 72,967
10 Al SXAEEHE2EHI 22X 165,620 144,860 20,760
OJI=SUCE NI
165,620,000 x 14! 165,620
= 82,810
[ 24,843
Al 57,967
11 AR S XA E X 15,000 15,000 0




A HAIED
a0l =X =3
=9l OIS S8 (CHl: & 2l)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
SUECEEETEERRERE
15,000,000 171 2 15,000
Is=H0lLsH 29 54,846 53,828 1,018
J| 27,423
& 8,227
Al 19,19
307 212+01 A 54,846 53,828 1,018
| 27,423
= 8,227
Al 19,19
10 IS SXAIEHE2ZHIER 54,846 53,828 1,018
O3SS0lLIsH 29
54,846,000 14! 54,846
| 27,423
= 8,227
Al 19,19
HEE" 2HANLE 2Z FIHKE 192,126 177,665 14,461
& 43,680
Al 148,446
301 LPENZ 190,686 177,665 13,021
& 43,680
Al 147,006
2 AN BEA>HS(HUHS, NYHA) 190,686 0 190,686
OEES LXANE SAK SE2E (5014,
31Y) 40,320,000 *14] 40,320
= 12,096
Al 28,224
OZdIlol 0|0 2HAE SAHA £
== (2MA, 129) 15,120,000_4*15! 15,120
& 4,536
Al 10,584
o= SXAE 2 T4l FILKIA (5H
) 135,246, 0003 * 14 135,246
= 27,048
Al 108,198
307 212+01 A 1,440 1,440
10 Al SEXAIEHE2ZHIEX 1,440 1,440
OWdZH LRAE SALL EII2s8+E
20,0003 x6E 120 & 1,440
SEAaEL 2GIH 203,052 190,080 12,972
| 101,526
& 30,460
Al 71,066
307 212+01™ 203,052 190,080 12,972




2A:

E M

(GE=p =)}

e =X 38

&5 6d=A S (St H )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 101,526
=S 30,460
Al 71,066
10 Al SXAEEE 22X 203,052 190,080 12,972
Osgags 29 203,052,000 *14] 203,052
Jl 101,526
= 30,460
Al 71,066
JHEEE Otk EXNSE2)#E S 3,201 2,880 321
Jl 2,241
= 288
Al 672
307 gl2to| & 3,201 2,880 321
Jl 2,241
= 288
Al 672
10 Al SXAIEEHE 22X 3,201 2,880 321
ONEZ2IHN DEX T2
3,201,000& %14 3,201
) 2,241
= 288
Al 672
IHE =LA ESAE 2 293,074 257,971 35,103
Jl 214,691
== 23,515
Al 54,868
307 elztol & 293,074 257,971 35,103
Jl 214,691
& 23,515
Al 54,868
10 Al2IS XA EEE 22X 293,074 257,971 35,103
OIS =LA ESAl4 22|
256,028,000 x 14 256,028
Jl 179,219
< 23,043
Al 53,766
O ZHTICHA 2SAIAE HI=S X A
16,800,000 » 14 16,800
Jl 16,800
OIS ZHIIGHA BESAIE EIAXES
15,000,000& » 14 15,000
Jl 15,000
OJIEZHIIGHA BESAIE HYPEet|
5,246,000 * 14 5,246




2A:

Ol&ot=0t

M od =X 38
el od=X A (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Il 3,672
=S 472
Al 1,102
JHEZHUIchAL /=8 XA 8,529 11,39% N2,867
Il 5,970
= 768
Al 1,791
307 @12t0| & 8,529 11,3% A2,867
Jl 5,970
== 768
Al 1,791
10 MEISXAAIEHE2EHIE2X 8,529 11,3% A2,867
OJIEZALIGHA /28I (2044 )
8,529,000 * 14 8,529
Jl 5,970
== 768
Al 1,791
JHEESIICHA Xgsl=E208 K& 24,944 24,944 0
Jl 17,461
= 2,245
Al 5,238
307 el2tol & 24,944 24,944 0
Il 17,461
S 2,245
Al 5,238
10 Al SXAIEEHE2EHI 22X 24,944 24,944 0
OJId==1oh A Azel=222 03
24,944,000 *14] 24,944
Il 17,461
= 2,245
Al 5,238
JHE =S ol THEEX ArY 8,500 8,500 0
= 1,050
Al 7,450
301 EtE NS 5,000 5,000
02 AR 2HHLFS(HAAS, XNLHE) 5,000 5,000
ONNFZS IEi 212 4TS Xe
5,000,000 * 14 5,000
307 212t01& 3,500 8,500 25,000
< 1,050
Al 2,450
10 Al SXAEEHE2EHI 22X 3,500 3,500 0
OJIE =4 Tlol MHEYX A
3,500,000 *14] 3,500




2A:
X XH -
o e

=aak

Ol&ot=0t
od =X 58
Hd=x 58

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 1,050
Al 2,450
8428 AYA 2FRA 176,228 163,178 13,050
J| 88,114
= 26,434
Al 61,680
307 2I2+01A 176,228 163,178 13,050
| 83,114
& 26,434
Al 61,680
10 IS SXAIEHE2ZHIEX 176,228 163,178 13,050
O&8=g84gA 29|
176,228, 0003 * 14 176,228
| 838,114
& 26,434
Al 61,680
SEHUIGHA 2ESAIE 2 XE 319,786 294,323 25,463
| 226,529
T 27,977
Al 65,280
307 2I2+0l ™ 319,786 294,323 25,463
| 226,529
& 27,977
Al 65,280
10 Al S XA EEHE2IHIE X 319,786 294,323 25,463
Od=ZZIIoiAt ESAIE 29|
319,786,000 *14] 319,786
| 226,529
& 27,977
Al 65,280
S=ZZ0IoH A 22 KA 14,695 14,695 0
| 10,287
& 1,322
Al 3,086
307 212+01™ 14,695 14,695 0
| 10,287
& 1,322
Al 3,086
10 Al =S XAEEHE2IHIE X 14,695 14,695 0
O =HIlai At 2ZHI(3M4L)
14,695,000 14| 14,695
J| 10,287
T 1,322
Al 3,086




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEMoi it XI22SX2 21,929 9.117 12,812
Jl 15,350
== 1,974
Al 4,605
307 212+01& 21,929 9,117 12,812
7l 16,350
=S 1,974
Al 4,605
10 Al SXA2EE 22X 21,929 9.117 12,812
O& =AU XTSI IH(3IMA)
21,929,000 * 14| 21,929
7l 16,350
= 1,974
Al 4,605
SOHOHIIGH A+ XIEAIE & &gl 29 179,132 166,235 12,897
Jl 89,566
= 44,783
Al 44,783
307 @120l & 179,132 166,235 12,897
Il 89,566
= 44,783
Al 44,783
10 Al SAAEEHE 22X 179,132 166,235 12,897
OdHifUlo & &2 23|
179,132,000& * 14 179,132
Il 89,566
= 44,783
Al 44,783
SOHOHIION Kt =X 46,99 46,995 0
Il 32,89%6
= 7,049
Al 7,050
307 elztol & 46,99% 46,99% 0
) 32,896
< 7,049
Al 7,050
10 Al2IS XA E 22X 46,99% 46,9% 0
O&OHOHIION K+ X2 |
46,995,000 * 14 46,995
Jl 32,896
< 7,049
Al 7,050
ZHol 010 EsAld 22 268,722 214,386 54,336
Jl 178,898




SA: O1EIIED
M ol =X &
Rl E=sA sa EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 41,853
Al 47,971
307 212+01 A 268,722 214,386 54,336
| 178,898
= 41,853
Al 47,971
10 IS SXAIEHE2ZHIER 268,722 214,386 54,336
OZdIlol 0IFHE ESAd 23|
248,426,000& x 14! 248,426
| 173,898
& 37,264
Al 37,264
O=glldl 0IF0HE ESAIE EAKEZ
5,000,000 *14] 5,000
| 5,000
OZIlol 01F04 ESAE(ZHl =IHX
&) 15,296,000 & * 14! 15,29
& 4,589
Al 10,707
ZS0lch Oy o5 2N 273,011 309,116 A36,105
J| 124,054
& 69,498
Al 79,459
307 212+01 ™ 273,01 309,116 A36,105
| 124,054
= 69,498
Al 79,459
10 IS SXAIEHE2ZHIER 273,011 309,116 A36,105
OZdIlol 0IFHY aEA 249
248,108,000& 14 248,108
| 124,054
= 62,027
Al 62,027
O=ZUlol 0IF0d AEA(ZHl FIHAA)
24,903,000 & 14! 24,903
& 7,471
Al 17,432
MEHE 22 ¥ MPusesd 646,464 645,711 753
= 437,198
& 41,853
Al 167,413
307 QI2Hol ™ 646,464 645,711 753
= 437,198
& 41,853




SN OIS

2 Hd =X 88

(i

=Rl Hd=A S8 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 167,413
10 Al S XA EEHE2IHIE X 646,464 645,711 753
OMHEH 29 (101A) 341,013
S GAE AL 0121H((8Y)
226,713,000& x 14! 226,713
= 113,357
T 22,671
Al 90,685
PoIN W2 Y SHHF S BSAY|
9,600,000 * 14 9,600
= 4,800
& 960
Al 3,840
EEX24(1Y) 1,200,000 * 14 1,200
= 600
= 120
Al 480
At 16,000,000 & * 1A 16,000
= 8,000
= 1,600
Al 6,400
-8 2% 28,500,000 14! 28,500
= 14,250
T 2,850
Al 11,400
~ZECHE S ALY 59,000,000 * 14! 59,000
= 29,500
& 5,900
Al 23,600
OMLOoIHolE AN (51H)
193,800,000 14 193,800
= 155,040
= 7,752
Al 31,008
OxuEEH(BIMUA)
111,651,000 14 111,651
= 111,651
e sEHY SHIX& 921,933 726,160 195,773
= 277,681
Al 644,252
301 LetEAEZ 457,000 287,400 169,600
& 137,100
Al 319,900
02 MBI EZASGS(HUAS, XLTHA) 457,000 0 457,000




2A:

Ol&ot=0t

33 g =X &
=Rl Hd=A S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol ZATHOA 2203 I
A2 457,000,000 x 14 457,000
= 137,100
Al 319,900
307 @I2t0| & 464,933 438,760 26,173
== 140,581
Al 324,352
10 AlRISTIAEEE 22X 464,933 438,760 26,173
O0d HIF L wA (D0 )
9,600,000 14| 9,600
== 2,880
Al 6.720
OFSES{GESE NI o
70,000,000 * 14 70,000
=S 21,000
Al 49,000
OMZHIE SALA 234l I
27,973,000 * 14| 27,973
S 9,493
Al 18,480
OMHE SAR MM (SRAZEIE,
SAHI, &) 2,760,000 11 30,360
=S 9,108
Al 21,252
O YEH 9H sSits B SAI
5,000,000 14 5,000
= 1,500
Al 3,500
OSZHgelzDiZuE 29 322,000
-SEHISINLAHH 22|
310,000,000 *14] 310,000
< 93,000
Al 217,000
—SROgelEI e dEE X3
12,000,000 * 14 12,000
= 3,600
Al 8,400
LEIHE X 6,372,717 5,082,446 1,290,271
Il 4,173,399
= 860,001
Al 1,339,317
SIRISXAE PAK HEXNSXZ 18,022 22,626 A4,604
Jl 9,011
= 2,703
Al 6,308




2A:

X XH -
o=

Ol&ot=0t
od =X 58

e 2RI X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 18,022 22,626 A4,604
Jl 9,011
== 2,703
Al 6,308
10 Al2ISTIAIEEE 22X 18,022 22,626 A4,604
OstRRIIE SXNAIE L XaE ISX
(200 2) 18,022,000 * 14| 18,022
Il 9,011
== 2,703
Al 6,308
SIS tH 2sHl S K& 5,005, 164 3,733,874 1,271,290
Il 4,004,132
== 500,516
Al 500,516
301 22N = 5,005, 164 3,733,874 1,271,290
Jl 4,004,132
= 500,516
Al 500,516
01 Al EE A S(FRDEXA) 5,005, 164 3,733,874 1,271,290
OstRZ2IIENE &=l S K&
5,005, 164,000& x14] 5,005, 164
7l 4,004,132
= 500,516
Al 500,516
HFAUEEREE NEXE A 155,034 105,052 49,982
Jl 124,027
= 9,302
Al 21,706
301 EtE2 NS 185,034 106,062 49,982
Il 124,027
= 9,302
Al 21,705
01 Al EE AT Z(2DEXR) 155,034 105,052 49,982
OBAHERL REXEAY
155,034,000 *14] 155,034
Jl 124,027
= 9,302
Al 21,705
SRS NHYS WSH| THIXE 1,142,740 1,158,940 16,200
= 342,822
Al 799,918
301 EetE NS 1,142,740 1,158,940 216,200
== 342,822
Al 799,918




2A:

VBl

M ol =X &
oelr 2RI0HE X (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
02 MBI EZAGS(HAUAS, XLTHEA) 1,142,740 0 1,142,740
ONAS 822015 MEXAZ X
1,100,740,000 2 * 14 1,100,740
& 330,222
Al 770,518
ONAS BRRIE (5us3 X8
36,000,000 14! 36,000
= 10,800
Al 25,200
ONAS B2 ZOIIY MBEE N2
6,000,000 14 6,000
& 1,800
Al 4,200
SIREEEXIAAE Ot0lI&8 MdlA K& 51,757 61,954 A~ 10,197
| 36,229
& 4,658
Al 10,870
307 gI2tol 51,757 61,954 210,197
| 36,229
& 4,658
Al 10,870
10 Al SXAEHE2EHIEX 51,757 61,954 A~10,197
OstE2IESXAE o0l MEIA KIA(
294 2) 51,757,000& 14! 51,757
| 36,229
= 4,658
Al 10,870
NESAE 22 828,632 794,189 34,443
& 137,766
Al 690,866
SANESAEXA 828,632 794,189 34,443
& 137,766
Al 690,866
307 2Iz2+0l™ 828,632 794,189 34,443
= 137,766
Al 690,866
10 Al ZXAIEHE 2FHIE X 828,632 794,189 34,443
ORIIE=TAL 2HHI(144)
430,000,000 14 430,000
& 64,500
Al 365,500
ORIZ=XNAIE SALL SE+E
12,600,000 14 12,600
= 3,780




2A:

E M

Ol&ot=0t
e =X 38

el 2UESAE 28 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 8,820
OStR2IE=XAIE SHIXIE 2ZHI(20H
) 44,952,000& x14] 44,952
[ 13,486
Al 31,466
OEX=ERAIE AT REEEZ
50,000,000& x 14 50,000
= 12,500
Al 37,500
ODIEZANESIIAIL 2SHI(1H2)
290,000,000& *14] 290,000
[ 43,500
Al 246,500
OBSDINESTIAIL SAR HII254E
1,080,000 %14 1,080
Ct23t X At 610,248 593,113 17,135
Il 216,454
=S 98,324
Al 295,470
CtEsh, =0 SA S8 610,248 593,113 17,135
Jl 216,454
= 98,324
Al 295,470
Ol=0d A& 185,633 161,913 26,280
=S 33,387
Al 122,246
201 et 3| 375 375
01 AtR2te|Hl 375 375
Oget=ZH] 375
-CHE3IE QIADHM ALY A=A 375
- EES(EUItE) ME
50,0002 #32] 150
A 3,000 252 x33] 225
202 04| 1,200 1,200
01 =LHOLI 1,200 1,200
OU=23 RN 22|04
150,000& 2 & *42] 1,200
301 LEtE NS 8,450 11,450 23,000
= 2,430
Al 6,020
02 A2 XSG (FHAAHS, NLWE) 8,100 0 8,100
OZE012A =85S HIE A
8,100,000 * 14! 8,100
s 2,430
Al 5,670




AT HEIED
= =2 NE A
tel: CEst, 2= =X 58 (SH9 H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
B2 ds 350 350 0
OU=2tE REA #F
50,0003 +74 350
303 Z&a=s 350 350
01 o= 350 350
OUEeIENE 78 7 2&
50,0002 +74 350
307 212+01& 145,258 148,538 A3,280
[ 30,957
Al 114,301
10 ARISNAIEHE 22X 600 0 600
OJFEHIE AL FI125+E(29)
600,000 14| 600
1 AMISXAIEEXS 144,658 148,538 A3,880
OO0l 8t Mijael OlsXlz
1,200,000& *14] 1,200
O0IF0id XA At
18,000,000 * 14 18,000
OU2st Y2uSAEAL RN SE=E
50,0003 11 ~12& 6,600
OUEsIE 2RESH S8
5,000,000 * 14 5,000
Ot=2=ts 2 geg=2
10,000,000 * 14} 10,000
O0IF=0dus 7 - ¥ X&A
6,000,000 14| 6,000
OZ20IK 220 4R 2Y
29,250,000 * 14! 29,250
== 8,775
Al 20,475
OXote oiglold E3tolofu s 29
14,400,000 14! 14,400
= 4,320
Al 10,080
OZ=012A ARE20 2
26,208,000 * 14! 26,208
= 7,862
Al 18,346
OU=23t Aotstw =29
20,000,000 *10H 2 20,000
= 10,000
Al 10,000
Od=HME UERL 29 X
8,000,000 * 14 8,000
Q=el =X sd 1,706 1,706 0
201 2Bt ] 1,706 1,706 0




SN OIEIIED
= =2 NE A
tel: CEst, 2= =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,706 1,706 0
OA=F2X AN 2 1,706
-=g=g 70,0003 11223 1,540
-tk S 3,000&*11& 23] 66
-SEES(SAIIE)HEH 50,0002 *22] 100
AEgs & MHHEE S g2usAHIA T2 199,232 193,138 6,094
Il 99,616
== 29,885
Al 69,731
307 212+01& 199,232 193,138 6,004
Jl 99,616
= 29,885
Al 69,731
10 AlRISXAIZEE 22X 199,232 193,138 6,094
OU=2=hIE SEuUFAEY
199,232,000 * 14! 199,232
7l 99,616
= 29,885
Al 69,731
0180l JIEEE &4 33,943 30,108 3,835
Jl 16,971
= 5,092
Al 11,880
307 @120l & 33,943 30,108 3,835
Il 16,971
= 5,092
Al 11,880
10 Al SXAEEHE2EHI2x 33,943 30,108 3,835
OLE3HS 018N JIEetB gAY
33,943,000 * 14 33,943
Jl 16,971
= 5,092
Al 11,880
CrEshts AH0E " X2 76,246 69,448 6,798
) 38,123
= 11,437
Al 26,686
307 elzto| & 76,246 69,448 6,798
Jl 38,123
< 11,437
Al 26,686
10 AlRISTIAIEEE 22X 76,246 69,448 6,798
OL231ItE Tt AL EXIZ A
76,246,000 * 14 76,246




SN OIEIIED
= =2 NE A
tel: OEst, =0 =X & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 38,123
=S 11,437
Al 26,686
ZE012X SHAAMEIA X2 31,788 30,088 1,700
7l 15,8%4
= 4,768
Al 11,126
307 @12t0| & 31,788 30,088 1,700
Il 15,8%4
= 4,768
Al 11,126
10 Al SXAEEHE 22X 31,788 30,088 1,700
OREO0IQUT SHHAUIA A
31,783,000 * 14! 31,788
Il 15,8%4
= 4,768
Al 11,126
ZE0I12UA HEHat A& 20,000 20,000 0
Il 10,000
= 3,000
Al 7,000
307 el2tol & 20,000 20,000 0
) 10,000
& 3,000
Al 7,000
10 Al SXAIEEHE2EHI 22X 20,000 20,000 0
OZE0I12At HB A
20,000,000& * 14 20,000
) 10,000
< 3,000
Al 7,000
CH23HE Atdi2tel X 71,700 63,732 7,968
Il 35,850
== 10,755
Al 25,095
307 elztol & 71,700 63,732 7,968
Il 35,850
== 10,755
Al 25,095
10 AlRISTIAEEE 22X 71,700 63,732 7,968
OCHE3IHE Atell2tel At
71,700,000& 14] 71,700
Jl 35,850
s 10,755




SN (=D
Hm: (25 A2 A
tel: CEst, 2= =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 25,095
AEATH2SOIESRI (M0 D) 20,000 20,000 0
307 2I2t0| A 20,000 20,000
TNEEVNETES 20,000 20,000
OMERTREIIEEH
20,000,000 14! 20,000
BI2YBHI(HLIED) 126,036 126,036 0
0122110181 = 1) 126,036 126,036 0
J1=2ZHI(01 8= ) 126,036 126,036 0
201 YLty 37,446 37,448 0
01 Ak 22ld] 37,446 37,446 0
OELIES=L] 18,246
DlZAREE| 100, 0002 <362 3,500
~=AD| S| 500, 0002 *2CH*13] 1,000
~=AD| £ 7Y 330, 0002 *2CH 43| 2,640
-SAD EH 7Y 150,000 *2CH 83 2,400
-=AEX 7Y 23,0002 * 158 A %128 4,140
-2I0I M ZRIE EY 237, 0002 *3CH+63] 4,266
D2 AR 150,00024+25| 300
SEEL 19,200
~OlEIIED ARET S20RAL]
8,000 x202 * 1031« 128 19,200
202 OfH| 84,000 84,000
01 2UH0it] 84,000 84,000
OO1&EII=ED AREZ U0
20,0002 *35% *103] * 128 84,000
208 UL FZH| 4,500 4,50
04 PA2LAR SR 4,590 4,50
ORA2EALZZY|
425,00021 % 122 x90% 4,590




